N
'j\\
Ly

4-2 [fi| &I L



:l[r'ljﬁji -y
a

=52

Sl
b

o/



|2

P




= EPEEH




i
Q |

™~ [pIE!

o= —






R B
1k
(‘Elfjﬁ
T<H 1
£l
H (2)

(
_I__>
)
_|__>
a C + (0D +
b a+(b+c
C)
,;\
\ I/\




(4)












Bre[p £l VS P E
" k(ma) = (km)a = k(ma)
(2) k(a+b) =ka+kb

S s s s
(3) (k+m)a=ka+ma



o R E AR R

&I -
F a=<a,,a,a,>
b=<b,,b,,b, >
Ell a+b=<a +b .a +b.a+b > =<a,+b,a, +b,a, +b,>

ka =< ka,, kay, ka,, >



=TI v
—
|rofm
|
ey
-
I o b}b

Al

. Vil e N PR —
TR e AsET R g

FIJ ST I ow £

VW =IFllalcCOS< -, a >

—

HHV <Fa> pape 0 = g 1wrzvt



QD

@R

a-b=[al[B|cos< a5 >
_[&]pro.5
= (b pr065

x 5 b




t O

t @

t 0O
t @

I
1O

'O

1O

Il
t QO

1O

ll
t @



2-D=b-a
(ka)-b=k(a-b)
A+D) C=a-G+D

O






Fl=[71=[K] =1
M <i,i >= <j j>—<kk> 0°
=1x1x1

ﬁ

cosO° =1

RS




> — > llII|— > —
; k

=1x1xcos90°
<i j>—< ], k>—<k |> 90°
=1x1x0
=1 cos90° =0
sl
R duk=0

K-1=1







+ab J-1+ab |- J+ab,] -k

- —

- —
.

b 4 >
=




X y~y 77



—

a-b= (-)x5+3x(-1)+2x1=-6



a-b= 2x1+(-3)x(-1)+0x10=5






P =520 €0s90°=0
B o g cos<ab>=0
- cos<ab>_0

—_ —
- _) 0




- ab +ab, +ab,




o, B 71 i

‘bHcos v,







2|

B




0S0°

NG ?7’['
cos30° = ﬁ c0s150° = —g
2
. N2
COs45” = = cos 135 © = f




Ccos150° =

Cos4o” = cos 135 © =

0S12(C




0S0°

NG ?7’['
cos30° = ﬁ c0s150° = —g
2
. N2
COs45” = = cos 135 © = f




SIS %’,‘ A(2,1,3),B(3,2,3),C(314)

-



A(2,.3),B(32,3),C(314)

qm

- [l

B <110>-<101> -
\/12+12+02\/12+02+12'( ) +()

= 3

o N
0 Q= 60° =3




“151 a=3-9]+7kb=4i-2]+4k

N D e
- T 5

prj. a




a=3-9j+7k,b=4i—2j+4K

] — - -
prj.a= Hchos< a,b>
b

-

1l [: ||
|
< R >
JOPTy
12+18+28 29
6 3

Al



i

C

a=<-212>b=<20-1>

3a-2b U=



a=< —212>, b=< 4-2,4>

||c|| = ||3a— 2b||
=|l< —6,3 64,02 > >

o o

= (PR ()’
- Jw3




SIEl a=<1-11>b=<201>cCc=<112>




5 =<1-11>, 5 =< 2,01 >,E =<112>

(ka+Db) 1 c

& (ka+b)-c=0
< 1 2 =00

K = -2




U

*  a=<110>b=<0-11>

—ll

st asb ¥ § W 9



a=<110>Db=<0-11>

COSQp = !Q »!;
Ha+b a

< o> >

TJO R P P P e )

-

o N
0 Q= 60° =3




LR 5]

(1) gy
(2) HEIH[R): =R

9 axbla 5 axblb

=







TR ee
o9t ARL (R

LRI R

(1) TpuRol: lax

(2) G IEI Jﬁf] |'|:| -.-l’E‘Ijj‘/\ “Z—E F EI@‘_}{;\L_:_EI%J T

El




B < , , >< , , > “314)
YO+ P40 Y =40 )7+ J;!

IIIJ_ - |

- .
= b PINARL- (W E
LRl F= [

(1) epui]s

(2) HpH[p): = ﬁlﬁ" E B Epu T
9 axbla £ axblb

a,b,axb #®

— b
|







axb=-bxa

ka)xb = k(axb )

@) @D=KD Crr)
ax (kb) = k(axb)

(5+5)><E=5><E+5><E

(3) e CED
cx(a+b)=cxa+cxb



Fl=[71=[K] =1
M <i,i >= <j j>—<kk> 0°
=1x1x0

ﬂ

sin0°=0

ixi=0
R dxi=0

kxk=0




> — > — > —
, k

— 1%1% SN 90"
<i j>—<j k>_<k |> 90°

=1x1%x1

=1 SiN90° =1

> — —
u n ‘
— — >

Kxi = ]




IJ




1 a=<a,a,a,> b=<b kb >

TR TRy A G D #hY




y < 2y

FH] = ﬁETFT’/IJ?QF:E'%

'—

R TR A







ab,—ab, =kbb —kbb =0
=
ab —ab =kbb —kbb =0

—_—
axb=0






_5\21111




Q |

(2,-31)

[F1iE4-9

—

b=(-11-2

Al [ 8 [



w5

-1 1

— 2







SHEE A Q- mE S
W‘Jkg49Jfﬁjﬁﬁ
axb=
:—g !I 2 1
1 -2 L1 _o Tl o1

~[(-32)-x1f ~[2x(-2 (=1} +XI-(Ix(Dk

pr— - =




S AR L Al oh G
R
7‘J,é§l4-10

AB =
a+2b
AD

o [
RS W

(\\—’[\ L) c —_—f
Ik
I‘—- I w‘j’ J/ABC |E |" ;‘E
D’
AJ




IRE4-10 v E’ﬁéﬁ

AD=a-

b
AB=a+2b 5

T[S PUETSABCDRVE R T H!E! !BH

T



AB=a+2b AD=a-Db

2 = UEABCDRYE A

AB X AD

—axa—axb+2bx

=||[ABX AD

— (a+ 2b) x (a— b)

QJl
Ul

SDl
Ol

bxa+ 2bx

X da

|l
w Ol

_I_
b x

o/



TIE4-10 I g sy
{5 4387 AB CDRYE 7 —||AB><AD||

ABxAD =3bxa

[RER0] - o
s [ilBlsn(a




—_ —

|-+ Bl-3(35)- %

ﬁﬁi

;- l

I SPUETSABCDRUE R = HAB X ADH
- e i 5

:3><3><4><Sin£

6

2



R AL bt

ﬁN_._,
hud

i
15

WS

i

WS









bx c|cosp =a- (bxc)=(a,b,c)




== C /

O




IRE4-11

I a=2i—j—k

5=T+7R
c=i+2K

RL= BBV (5 iV A



F}E4-11 I/Ejﬁ

|l
|
N

B B =2

o A= 21— =K
—j+7k
c=i+2K






